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Which of the (ollowing measureinents randomly selected from a populat.lon could be considered
a rare event from any population distribution?

Choose one of the following:

a)x=0wherep=-3and¢7.=2

b)x=-5wherey=1ando =4

¢)x=7wheregy=3ando =2

d)x=4 wherey=0and o =1

e) x=10 wherepy=0and o = 5"

An experiment was conducted in an attempt to prove that luoride toothpaste produces a lower

average number of cavities than non-fluoride toothpaste. The experimenter concluded that there

was no difference in the average numiber of cavities for fluoride and non- (luoride toothpaste

when in reality the Buoride Loothpaste was better. This is:
Choose one of the lollowing:
a) a type [ error.

b) a type Il error.

¢) a correct decision.

The term SSE is calculated by considering (&@ﬁ_{(_&f?)

Choose one of the following:

2) The dillerence between Lhe observed value ¥; and 7, the overail mean of the y observations.
b) The difference between the observed ¥ and the fitted ?i .

¢) An observation which is available but not incorporated into the regression analysis.

d) The difference between the observed value of the dependent variable ¥; and the observed

value of the independent variable X -

Any experimenter tesling hypothcses should know that

Choose one of the following:

a) statistical significance and practical significance are the same thing.
b} statistical significance does not dictate practical significance.

c) revealing p-values to an experimenter prevents the experimenter from drawing his or her

own conclusions.

d) it is not necessary Lo reveal how Lhe sample was oblained.

Multicollinearity refers to a conditions where
Choose one of the following:
a) .several independent variables can be used to predict a response, y.

b) mote than one indicator variable is required Lo represent a qualitative variable having

several classes.

<) more than one response variable needs to be predicted l'rom the same set of independent

vatiables.

d) the observations of the independent variables are highly correlated.
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3 USING THE COMPUTER PRINTOUT FROVIDED, ANSWER THE FOLLOWING QUESTIONMS:
. &
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General Linear Models Procedure
X’X Inverse Matrix
INTERCEPT X1 X2 X2*X2
INTERCEPT 5.5573931854 -0.188337249 -1.387787309v0.1000193631
X1 -0.188337249 0.0703566842 -0.06133794 0.0025800415
X2 -1.387787309 -0.06133794 0.5552235216 ~0.037943206
X2*X2 0.1000193631 0.0025800415 -0.037943206 0.0027027568
Dependent Variable: Y - >
Sum of Mean
Source DF Squares Square F Value Pr > F
Model 3 99.74389129 33.24796376 26.50 0.0001
Error 9 11.29338563 1.25482063
Corrected Total 12 111.03727692
R-Square Cc.vV. Root MSE Y Mean
0.898292 14.44114 1.120188 7.75692308
Source DF Type I SS Mean Square F Value Pr > F
X1 1 1.50295073 1.50295073 1.20 0.3022
X2 1 95.83116837 95.83116837 76.37 0.0001
X2*X2 1 2.40977220 2.40977220 1.92 0.1992
Source DF Type III SS Mean Square F Value Pr > F
X1 1 30.69307800 30.69307800 24.46 0.0008
X2 1 12.20341267_ 12.20341267 9.73 0.0123
X2*X2 1 2.40977220 2.409877220 1.92 0.1992
T for HO: _ Pr > |T| Std Error of
Parameter Estimate Parameter=0 Estimate
INTERCEPT 4.206815646 1.59 0.1456 2.64074452
X1 -1.469511210 0.0008
X2 2.603002451 3.12 0.0123 0.83468912
X2%X2 -0.080703334 -1.39 0.1992 0.05823637
i . 2
() Find R for this model.
k.
i () Hrite the prediction 2quation for the fitted model.
‘ (W) Find the standard error of the estimate of the coefriicient of XIL.
(;V) To test H :ﬂ = 2 versus H ;/6 = 2, the numerical value
0 2 A 2
. FFici X2
of the test statistic would be what? ([ is the coefficient of X
in the model.) 2
. 2 . 2 :
i (V) 17 X2 were dropped from this model, find R for the new model
with just X1 and X2 .,
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4- A drug manufacturer wishes to assess the effect of three drugs on the motor ability of rats. He
obtains four litters of rats, each litter containing three rats, and Places each litter of three rats
in separate cages. Ile randomly assigns and administers either drug A, B, or C to the three rats

in each cage, each receiving a different drug. He repeats the procedure with each cage and then
measures the motor ability of each rat. (109)
(i) What type of experiment is this? (445"

tor. e
(‘“) Identify the factors and the number of levels foc each factor.” (§ a)

£
t 3 4 Iy 4 7 ®
pe) o]l o o3 0.2 0.2 o |

B R K 030 6 ToAR ¢k ( 54E (EV I 6548 ), RIS B,
~tR, 4k 2548, RIS 2 tR ARKIRIE (9% 1548 K w( v 65 Y
B B8, SR L So9$Ra4 AT1 (105)

6. @A B C =A% ER-ElvtR Ry, 55K 4, 5 ¢ (AL
KASAEGBEZ BRI X B B4 s> mon b
LE9EL T 2078 2330 960

P25 s> . 1s2 2.70 2.30 an)
- 5 - 52 F, Fusse
s L@ RAA - R BT (aov s ) GE: oA REF

(1549) .
1. (@) @& w00 - 920, AR TE2 S A Y5, £ AABE F]- BRI L
B 3AFTHEME (5%)
b) —BiFEEE o oof, A B —dtt TIEK 20044, SLEIAELRGS A2
ABR 2B A v FE o BIMEZ(T? (3. B8+ 2@ =1d5a, %
TGRS Tavs S BL KA, Frvs, FERE FOAHRIEMS B £5) 2158
STELI). (54 '

OX BBUK 1(20,16) , YRBUEN (12, 9) £ K. T 5py & AELAN

B2SBRARI S K Pp(R>TF) s A% (2. VAGRE)
($4)






